WELCOME TO 7™ GRADE

Dear Students and Parents,

As a 7t grader, it is important to be able to solve operations with decimals and
fractions. This is prerequisite material needed to be successful nextyear. Please
complete the attached packet.

e This summer packet must be completed BEFORE the first day of school.

*

You are to show all work. (no calculator)
s Packets will be graded as a homework assignment.
« Packets will be collected the first day of school.

+  You will be given a test on this material within the first week of school that
will count toward your first marking period grade.

Do not expect to complete this packet in one sitting. Itis recommended thatyou
work on one worksheet at a time. Plan to take your time when working on these
problems. You may use another sheet of paper if there Is not enough room to show

“your work. Showing work demonstrates to your teacher that you fully understand
the concepts.

If youneed help, you can go to http://www.khanacademy.org and sign up {freej to
hegin using this on-line learning tool.

Students and Parents: To show that you have read and understood the
instructions above, please sign below and return it to your teacher ca the fivst
day of school.

Thank you, and have a great summer!

Student Name: [print)

Student Signature:

Parent Signature:




R:EVIEW: Multiples of Name

Whole Numbers

Key Concept and Vocabulary ——  Visual Model

Multiples of 8: @ —
8, 16, 24, 32, (40) 48, ... 8 16 24 32 40| 4

T ——t>
Multiples of 10: G 4 8 12 16 20 24 28 32 36|40 44 48 52 56
10, 20, 30, 50, ... 10 20 30 1 40 50
et —t-e fiffi Ho—+——>
. 7i 0 4 8 12 16 20 24 28 32 36|40 J44 48 52 56
,(I“east common multipie s
o J
Skill Examples _ Application Example
1. The LCM of4 and 6is 12. 6. Find the minimum number of 6-taco
. — lages that will serve 4 people with
. 3. packag
2. TheLCMof 1 and 3 is The LCM of no tacos left over.
3. The LCM of 3 and 5 is 15. TW? primes is The LCM of 4 and 6 is 12,
) their product.
4. The LCM of 12 and 40 is 120. .
_ ::» For 1 package, there will be 6 tacos and
5. The LCM of 11 and 33 is 33. . 2 will be left over. For 2 packages, there

PRACTICE makes PURR-FECT™

will be 12 tacos. Each person gets 3.

- Check your answers at BigldeasMath.com.

Find the least common multiple of the two whole numbers.

7.

10.

13.

16.

17.

18.

8

3and 7: 8. 3and&é: 9. 6and9:

9and 12; 11. 6and21; 12. 24 and 30:

24 and 32: 14. 15 and 40: 15. 48 and 128:

RUNNING One trip around a track is 440 yards. One :
440 yd

runner can complete one lap in 8 minutes. Another

can complete a lap in 6 minutes. How long will it take

for both to arrive at the starting point together if they Goart
T

start at the same place? |

BUYING TACOS Find the minimum number of 5-taco packages that will serve
4 people with no tacos left over. How many will each person get?

HOW MANY PENNIES? With the same collection of pennies, you can make stacks that have
3 pennies, 4 pennies, or 9 pennies with none left over. How many pennies do you have?
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REVIEW: Order of Operations Name

~ Key Concept and Vocabulary ~
“Please Excuse My Dear Aunt Sally”  Simplify 4% + 2 + 3(9 - 5). Order of
Operations
1st  Parentheses 42 +2+3(9—-5=4>+2+3+4

2nd Exponents =16+2+3.4

3rd  Multiplication and Divisien (from left to right) - 20+ 12
4th  Addition and Subtraction (from left to right)
\
Skill Examples Application Example
1. 18 +2—-4=9G—4=5 6. Ata museum, 4 adults pay $5 each and
. B 6 children pay $3 each. What is the totai
2. 12+(6-2=12-4=48 cost of the tickets?
3. 14-3-19=42-19=23 4e5+63=20+18
4, 20+ 10+21-5=2+105= 107 =38
2 _roor R o
5. 2+3)°-5=25-5=20 The total cost is $38.

PRACTICE makes PURR-FECT™,

Check your answers at BigldeasMath.com.

Simplify.
7. 3 +54—2)= 8. 3+4+2= 9.10+5+3=
10. 4(33-8)+2 = 1. 36 —-4+2= 12. 12+ 7+3—24 =

Insert parentheses to make the statement true.
13. 5°—15+5=2 14, 12023 + 4 =144 15. 91 - 21+ 7=10

Write an expression for the total area of the two rectangles. Evaluate your expression.
16. 17. B :

18. ADMISSION At a baseball game, 6 adults pay $20 each and 4 children pay $10 each.
What is the total cost of the tickets?

19. INSERTING PARENTHESES Insert parentheses in the expression4 + 2° —5«2in
two ways: (a) so that the value is 10 and (b) so that the value is 14.

(a) (b)

Skills Review Topic 3.4 Copyright © Big Ideas Learning, LLC




REVIEW: Adding and Subtracting
Integers

—~ Key Concept and Vocabulary ————

W )
Add and
sibivact.

t@rms ;.
&

e

o
L terms J ( differencg J

\

Skill Examples

Name

Visual Model

To add a positive number, move to the right.

~5+8=3 :

1
-6 -5

To subtract a positive numbet, rmove to the lefi.

Application Example

1. 5+(-3)=5-3=2 6. The temperature is 8°F in the morning and
drops to —5°F in the evening. What is the
L 5—(—2)=5+2=7
2 (~2) 2 D difference between these temperatures?
3. —2+4=2 To subtract : 8— (-5 =8+5
4. -3 (—-2)=—3+2=—1-— changethe & ~13
nand add. &
5 8-~ (_3) =84+3= 11&——/{‘*&**—’—*?# o

The difference is 13 degrees.

PRACTICE makes PURR-FECT™

Find the sum or difference.

Check your answers af BigldeasMath.com.

7. —2+3= 8. 4—-5bH= 9. 8—-2= 10. 8 - (—2) =
M. —4—-(-1= 12. 5+ (-5 = 13. 4 - (-8 = 14. 4-8=
5. —4+ (—6) = 16. —4 —(—-6) = 17. 10— 13 = 18. 13— (—10) =
Write the addition or subtraction shown by the number line.
19. F | 20. s ;
| 1> ettt
5 -4 -3 -2 -1 0 1 2 3 4 5 -5 -4 -3 -2 -1 0 1 2 3 4 5

21,

TEMPERATURE The temperature is 16°F in the morning and drops to —15°F in the
evening. What is the difference between these temperatures?

SUBMARINE A submarine is 450 feet below sea level. It descends
300 feet. What is its new position? Show your work.

22,

Copyright © Big Ideas Learning, LLC
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REVIEW: Multiplying and Dividing ~ Name

Integers
~ Ke;i Eﬁncepf Ejd Vocabulary ——  Visual Model
Jffactors | [ product | ultipt
?“i) and dwndle 4+(-2) = (=2 + (~2) + (-2) + (-2)
8+ (—5)=—-40 &
] [ < B i
=12+ (-3) =4 >
A ~9 -8 -7 6 -5 -4 -3 -2 -1 0 1
SR R A S
fdividen_d). divisor | quotieiij;_
Skill Examples Application Example
1. —3+(—4) = 12 ﬁj’;m‘e;@_n&;da“ 6. Each of your.si)'( frit_a-nds owes you $5. Use
2 36+ (-6 =6 and guotient positive | integer multlph_catlon to represent the total
. ' L amount your friends owe you.
3. -7-0=0 6+(—5)=-30
71055 = =2 < itferent signs, product The total amount owed is $30.
5 —5e6=-30 «— andquotient negative

PRACTICE makes PURR-FECT™,

Find thé product or quotient.

Check your answers at BigldeasMath.com.

7. =3 X (~5) = 8, 7(-3) = 9. 0+(—5) = 10. (—5)(=7) =

11. 82 = 12, (—5H)% = 13. (-3)3 = 14. 4(-2)(—3) =

15, —16+4 = 16. —20 + (=5) = 17. 29 = 18. %0
— I 3 — =16 —

Complete the multiplication or division equation.

19. -5 = = -3 20. 45 + = —5 21, + (~20) =5

22. 8. = —64 23, «(—9) =27 24, —12. = —96

25. TOTAL OWED Each of your eight friends owes you $10. Use Integer multiplication to
represent the total amount your friends owe you.

26. TEMPERATURE The low temperatures for a week in Edmonton, Alberta are —15°C,
—12°C, —10°C, —12°C, — 18°C, —20°C, and —25°C. What is the mean low temperature
for the week? Show your worlk.

Copyright @ Big ldeas Learning, LLC Skills Review Topic 4.4 17
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REVIEW: Simplifying Fractions
- Key Concept and Vocabulary —

Simplifying

im
Fractions
it

Divide numeratar
and dencminator |
by common factor,

Skill Examples

Simplify the fraction.
6. 6 7. 10
18 12
10. 2= 1 Bo
40 21
12 _ 20
14, 0 15. 5

Shade the model so that the fraction is simplified. -

Name

Visual Model

Application Example

5. Five of the 25 students in
your class have a Facebook
account. Write this fraction

in simplifed form.
5 _1-5_1
25 545 5

One-fifth of your class has a
Facebook account.

6 15
8. _— = 9. —_—
8 45
12. 8= 13, 20
2 50
16. 2 17. 2L
85 35

18.

19.

20. FACEBOOK Eight of the 24 students in your class have a Facebook account.

Write this fraction in simplified form.

21. SIMPLIFYING Write five different fractions that

each simplify to two-fifths.

Copyright © Big Ideas Learning, LLC
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REVIEW: Comparing and Name
Ordering Decimals
- Key Concept and Vocabulary — Visual Model

Order
decimals.
&

is less than | Number Line

is greater@:

I R !
T li#élé‘;‘

¥ :
1.23 < 1.24 1.24 > 1.23 120 121 122 123 124 125 1.26

inequality signsﬂ%’.

skill Examples
1. 34.07 > 30.47

1.23 < 1.24 because 1.23 is to the
left of 1.24 on the number line.

\.

Application Example

6. Order the weights from least to greatest:
12.31b, 11.91b, 12.01b, 13.11b.

2. 12.35 < 12.351
12.0 b 1310k
3. 17,056.4 > 17,055.9 1.9 b J' 122 1b j
4. 0.004 < 0.030 —] o lo— e
5. 11.0 115 12.0 125 130 135 14.0

0.1003 > 0.0999

PRACTICE makes PURR-EECT™

Graph the two numbers. Then compare them using <, >, or =.

Check your answers at BigldeasMath.com.

7. 1.6] |17 8. 1305 11035
| [ 1 | { | ] 1 L — | 1 i H i | i1 | | .
Bl | 1 L ] ! ] | T | ] T { b | I ] 1
081012141618 202224 160 120 140 160
9. 92| l9.02 10. 203.7] |207.3
e ———— a— ot ————
9.0 9.1 9.2 9.3 202 204 206 208 210
moose[ lows2 o, . 0 427.8] 14283
1T ey et f—t>
0.0 0.1 0.2 0.3 424 426 428 430

Order the lengths from least to greatest.
13. 32.5ft, 29.9 ft, 32.3 ft, 31.7 ft, 31.751t

Is the scale balanced correctly?

14. 0.5 mi, 0.05 mi, 0.47 i, 1.02 mi, 0.08 mi

15.
1221 0.15 kg
S 1.19 b i
o M"MWE

18. NUMBER LINE On the number line, shade all values of x for which x < 3.2 and x = 2.9.

| | i 1 | | | | | | 1 | o
| 1 I I 1 I 1 t | | | {
25 2.8 2.7 2.8 2.9 3.0 3.1 3.2 33 3.4 3.5 3.6
Copyrigiht @ Big !deas Learning, LLC skills Review Topic 8.2 31
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REVIEW: Fractions and Decimals

~ Key Concept and Vocabulary ——

1 1 2
— =01 ==0.2 —=0.4
10 5 5
o
l=0_25 1_ 3 A
4 2
}~=0.125 ﬁ:
8 8
1\ S/

Skill Examples
6 3 4_4.2_ 8

1. 06=—== 2. S =—Z2=" =108
10 5 5 52 10
875 7125 7
3. 0875 =—" = =
1000 8- ég 8
; 0.3333...
4. 3= 0.333...=03 31.0000. ..

PRACTICE makes PURR-FECT™

Write the fraction as a decimal.

6. 3= 7. L -

4 o
10. Y = 1. =

100 50

Write the decimal as a fraction.

14. 04 = 15. 0.35 =

Name

Visual Model

Application Example

3. You put 16.75 gallons of gas in your car.
Write this decimal as a mixed number.

16.75 = 16 + 0.75 = 16%

You put 16% gallons of gas in your car.

"Check your answers at Bi gldeasMath.com.

g 3 - 9 [ —
25 20

12. 2= 13. Lo
3 6

16. 0.6 = 17. 15 =

Write the number represented by the model as a decimal and as a simplified fraction.

18. = 19. =

20. =

]

e

21. GAS You put 9.25 gallons of gas in your car. Write this decimal as a mixed number.

22. MULTIPLE FORMS Write the decimal 0.35 in two ways. One with a denominator of 100 and

one with a denominator of 1000,

32 Skills Review Topic 8.3
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REVIEW: Percents | Name

~Key Concept and Yocabulary ——  visual Model

()
ap & T 30% is equal to
30 &
30% = 106 | \__;_)EQ 30 parts out of
cent (100) 100 parts.
(-
Skill Examples  30% of 10 is 3: Application Example
1. 30% of 101s 3: éo J’ 1% M g 5. Youearn $100,000 and have to pay 40%
: oOLLUIS S T TV T federal income tax. How much in federal
income tax do you pay?
2. 25%of8is2  r.8=2 youpay
50 40% of 100,000 is 40,000.
3. 50% of24is12: 24=12
] 75 s+ You pay $40,000 in federal income tax.
4. 75% of 80 is 60: « 80 =60

PRACTICE makes PURR-FECT™

- Check your answers at BigldeasMath.com.

Find the percent.

6. 20%0f50=__ ___ 7. 10%of80=__ 8. 1%ofl00=___ 9. 25%ofl6=___
10. 30%o0f40=__  11. 100%of5=____ 12. 60%of60=__ 13. 75% of40=
14. 25% 0of200=____ 15, 10%o0f120=____ 16. 0%ofl10=__ _ 17. 50%ofd2=__

Shade the model to show the given percent.

18.

21.

22.

38

25% 19. 82% 20. 37%

TEST SCORE You take a test that has 20 questions and you get 80% of the questions
correct. How many questions do you get correct?

SALES TAX You buy $50 worth of clothes. The sales tax is 8%. How much sales tax
do you pay?

Skills Review Topic 10.1 Copyright © Big Ideas Learning, LLC




REVIEW: Perimeter Name

~ Key Concept and Vocabulary ———

" Visual Model
|

&
W

i)

Perimeter = 10+ 9 + 11

) 4 = 3f)
e——
Perimeter =3+ 5+ 4 +4=16
N J
skill Examples Application Example
1. 3. Find the length of
fence needed to
enclose the lot.
P =2(80) + 2(120)
= 160 + 240
2 =
P=61+68+64+4.2 o 400
= 23.5 1 .

i+ You need 400 feet of fence.

PRACTICE makes PURR-FECT™,

Find the perimeter of the figure.

4, 0%t 5.

. 65 £t

Perimeter = 13.510n.
Perimeter = Perimeter =

7. 2.3cm 8.
2.3am £ ‘

9. 3t

2 ft
2.3cm

2.3 om

23 m

2 yd

Perimeter = Perimeter = Perimeter =

10. RIBBON You are wrapping a ribbon around a rectangular box that is 18 inches long and
12 inches wide. What is the minimum amount of ribbon you need?

11. COUNTY LINE A county has the shape of a quadrilateral. The lengths of the four sides are
109 miles, 94 miles, 82 miles, and 109 miles. Find the perimeter of the county.

42 skills Review Topic 11.1 Copyright © Big Ideas Learning, LLC




REVIEW: Circles and Circumference
—~ Key Concept and Vocabulary ———

C=md

C=2m(2.4)
=487
== 15.11In.

PRACTICE wmakes PURR-FECT™

Name

Visual Model
Circumference of a Ciicle:
C=2qr
= 27(12)
= 24
= '7h.4

Application Example

3. Find the
distance around
the soccer ball.

C = 7(22.3)
= 70.0 cm

22.3cm

Check your ansiwers at BigldeasMath.com.

Find the circumference. Round your answer to the nearest tenth.

4. B 5.

6in.

Circumference =

Circumference =

Circumference =

Circumference =

T 6.

925 mi

Circumference ==

Circumference =

10. RACETRACK A circular racetrack has a circumference of one mile. What is the diameter

of the racetrack in feet?

11. OLD OAK TREE You have 110 inches of yellow ribbon. The diameter of the old oak tree
is 38 inches. Do you have enough yellow ribbon to wrap around the old oak tree? Explain.

Skills Review Topic 11.3
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The diameter is

The radius is
twice the radius.

half the width.

radius, r

diameter,

center i

N
P RACTI c E MAKES P UR R- F EC T Checlk your anstvers at BigldeasMath.com.

Write the radius and the diameter.
1. 2.

Radius = in. Diameter = in. Radius= =~~~ c¢m Diameter = cm

Radius = [t Diameter = o ft Radius = .+ .m Diameter = m

5. BASKETBALL COURT Write the radius
and diameter of the center circle on a
basketball court.

center circle

Radius = |

Diameter = * ft

134 Basic Skills Topic 11.4 Copyright © Big Ideas Learning, LLC
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REVIEW: Areas of Circles Name

- Key Concept and Vocabulary ——
Visual Model

A= ar? Area of a Circle:

2

A= qr
= 7{4)?
= 77(16)
9 ~ 0.2
skill Examples Application Example
1. 2. 3. Findthe area
of a dime.
A = m(0.9)? 1.8 cm
=~ 2.5 cm®
A= w(2.4)%
~18.11n.2 The area is about -

2.5 square centimeters.

2
77
'3‘

5- ; ‘;‘%ﬂ%ae%a?i‘eé. 6.

46in. 10.41n.

Area = Area =

10. BASKETBALL Find the area of the center circle - center |
on a basketball court. circle

11. BASKETBALL Find the area of a free throw region

on a basketball court.

Copyright @ Big Ideas Learning, LLC Skills Review Topic 11.4 45




Name

~Key Concept and Vocabulary

Area = Base X Height

Rectangle: =4 X3
Area = bh =12 in_Z

3in.

ain.

.

Area = %(Base X Height) j

1
—2(4><5)

= 6 in.2

Triangle

4in,

—

PRACTICE makes PURR-FECT™

Check your answers at BigldeasMatli.com, ——.

Write the area of the figure in . Include the units in your answer.
1.

6in.

5. WATERCOLOR Find the area
of the iguana painting.

Area =
6. WATERCOLOR If you doubled

the base and the height, what
isthe area?

Areg = o

3cm

136  Basic Skills Topic 12.2
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Can use calewlator
REVIEW: Area for +his page only,

~— Key Concept and Vocabulary —_

A

Triangle: A= Ebh

Trapezoid: A= E(B + bh

. _ Areq
Rectangle: A= bh
Parallelogram: A = bh

1

1

$kill Examples

1. 1am

1 om

1.6 cn
A= %(1.6 + 1))

= 1.3 cm?

Filt
3.8in.

A= %(3.8) (2.4)

= 4.56 in.?

Find the area of the figure.
5041
4, - > :_._r 5. 6.
. 3{5 “ﬁ
13.510n.
Area =
Area =
7. 8 —8yd— 9
6 vl
1] 2yd
5¢m 2 yd
Areg = Area = Area =

10. CARPET You are carpeting a rectangular room that is 3.5 yards by 4.5 yards. The carpet

Visual Model

Area of a Rectangle:
A=Dbh
= (12)(10)

= 120 square units

Application Example

3. Find the area of

the apartment.
A=60-40
= 2400 ft*

costs $15 per square yard. How much will it cost to carpet the room?

Challenge. 5

| height = 10

base = 12

L Jao

1. COLORADG Colorado is approximately a rectangle that is 280 miles by 380 miles.
Is the area of Colorado greater than or less than 100,000 square miles? Explain.

“onyright @ Big Ideas Learning, LLC
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